| Efficiency vs Dxy |
> 0.1
<

i®)
.09
>
3.08
k)
D.07
©
0.06
0.05
0.04
0.03

......................................................................

0.02

0.028-"+4- ,

OJ-'\-QI I:II:I l l i li il illllillll

Rati

11 i - 1 S 1423414

0955 -20-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

— —=— DQM_CKF_TT_base_noSel
| Efficiency vs Dz |

—— DQM_CKF_TT_baseT125 noSel

N 0.2
© : : : : :
T SRR S S S R
> F ? ? ? ? ?
L e e
o L : : : : :
.14 oo Frrreneeee Frovremeees AR A
o : : : : :
RTINS SE S —
17 ST R R
0.08

b TN

OJ“LOIIIIillll!llII!IIII!IIII.IIII

0.06

T T
2
-

0.04FH|
0.02f

T
=
o

Rati

09365 =20 -10 0 10 20 30

TP dz (cm)



	Contents
	Page 1


